[bookmark: _Hlk41220714]PHYS 1111K – Exam 1 

1.	While driving home to Michigan for Christmas, a student sees a fawn frozen in headlights! She is driving at 9.20 m/s, and immediately applies the breaks and slows with an acceleration of 3.80 m/s2. If the fawn is 16.3 m from the student’s vehicle when brakes are applied, how close does the student come from hitting the fawn?

a) 	2.90 m
b) 	5.16 m 
c)	4.63 m

2.	A physical quantity is a number used to describe a physical phenomenon _________________.

a) 	Qualitatively
b)	Quantitatively
c)	Qualifiedly

3.	Basic SI units are __________, ___________, ___________.

a)	g, ft, min
b)	kg, m, s
c)	g, cm, hr

4.	______________ quantities can be measured by a single number and unit.

a)	scalar
b)	vector
c)	direction

5.	Vector A has magnitude of 4.60 m, and a direction of 57o north of east. Vector B has magnitude 3.00 m and a direction of 18o north of east. Find components Ax, Ay, Bx, By, and determine values for Cx and Cy, then find the magnitude and direction of resultant C.

a)	3.20 m, 5.30 m, 5.24 m, 7.65 m, 10.9 m, 5.67 m, 3.32 m, 52.5o
b)	2.50 m, 3.86 m, 2.85 m, 0.93 m, 5.35 m, 4.79 m, 7.18 m, 41.8o
c)	3.86 m, 2.58 m, 3.26 m, 0.49 m, 5.35 m, 4.22 m,  7.18m, 33.5o

6.	The family is vacationing in Martha’s Vineyard next summer. The drive is 
1725 km/17 hrs. Convert this to nm/µs (nanometers/microseconds).

a)	3400 nm/µs
b)	3.2 x 1026 nm/µs
c)	2.82 x 104 nm/µs

7.	This equation finds velocity without respect to time.

a)	vx = vox + 2ax(x-xo)
b)	vx2 = vox2 + 2ax(x-xo)
c)	vx3 = vox2 + 2ax(x-xo)

8.	The x-component of instantaneous velocity is the limit of velocity as time approaches 	zero.

a)	lim       Δv/Δt		b)	lim       Δq/Δt		c)	lim       Δx/Δt	
	t      0 				t [image: ]0 				t [image: ]0

9.	Constant accelerated motion. Velocity after specific time has passed.

a) 	vx = voy + axt2		b)	vx = vox + axt		c) 	vx = voxy + axt	

10.	A boat moves slowly inside a marina with a constant speed of 2.50 m/s. As soon as it passes breakwater, it throttles up and accelerates at 2.40 m/s2. How fast is the boat moving after accelerating for 5.00 s, and how far has the boat traveled in this time?

a)	13.5 m/s, 37.5 m	b)	14.5 m/s, 42.5 m	c)	12.2 m/s, 25.6 m	

11.	A ball is fired from a paint-ball gun horizontally at a speed of 5.00 m/s from 7.00 m above the ground and hits the classroom floor. How many second is the ball in the air?

a)	0.92 s			b)	2.46 s		c)	1.20 s

12.	Blood in the human aorta can have speeds of 39.7 cm/s. How fast is this in ft/min and mph (miles/hour)? 1 in = 2.54 cm; 1 mile = 5,280 ft

[bookmark: _Hlk41217575]a)	78.2 ft/min; 0.888 mi/hr
b)	0.888 ft/min; 74.6 mi/hr
c)	78.2 ft/min; 0.492 mi/hr	

13.	 In projectile motion, any projectile will follow a ______________ for the x-y plane.
	
a)	Straight line
b)	Hyperbolic trajectory
c)	Parabolic trajectory





14.	When acceleration is in a curved plane, the vector must always point toward the __________ side of the curved path.

a)	Concave
b)	Convex
c)	Center

15.	While playing tetherball at recess, the ball circled the pole in one complete circle in 3.2 s. What was the radial acceleration that caused the ball to move around the pole if the radius was 5.6 m? C = πd;	d = 2r;		arad = ?
                                        [image: Image result for tetherball images]
        
a)	22 m/s2		b)	33 m/s2		c)	15 m/s2 	

16.	How long will it take for a rock to hit the ground if it is released from the window of a rocket whose initial speed is 5.0 m/s? Initial height is 200 m. 
	
a)	4.9 s			b)	5.9 s			c)	6.9 s

17.	Acceleration is ______________ to a circular path and causes the _____________ of velocity to change.

a)	Parallel, direction	b) 	 Perpendicular, direction     c) 	Anti-parallel, speed

18.	Acceleration at each point in the circular path is directed exactly where?

a)	Toward the outside of the circle
b)	Toward the center of the circle
c)	Toward the convex side of the circle

19.	You go on a cross country ski trip. You travel 1.00 km north and then 2.00 km east. How far, and in what direction are you from the starting point? (Magnitude & Direction)

a)	4.29 km, 43.8°		b)	2.95 km, 59.6°	c) 	2.24 km, 63.4°

20.	The Star of Africa, a diamond in the royal scepter of the British crown jewels, has a mass of 530.2 carats, where 1 carat = 0.20 g, and 1 Kg = 2.21 lbs. What is the weight of this diamond in lbs?

a)	0.23 lbs		b)	2.3 lbs			c)	23 lbs	 
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